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1=1x1
2=2x1
3=3x1
4=4x1
5=5x1
6=6x1
7=7x%1
8=8x1



9=9x1
10=10x1
11=11x1
12=12x1
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2X1=2
2X2=4
2X3=6
2X4=8
2X5=10

2X6=12
2X7=14
2X8=16
2X9=18
2X10=20
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2=1x2

4=2x2



6=3x%2
8=4x%2
10=5x2
12=6x2
14=7x2

16 =8x2

18 =9 x 2

20 =10 % 2

22 =112

24 =12 x 2
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3x1=3
3x2=6
3x3=9
3x4=1]2
3x5=15
3x6 =18
3 x7=2]
3x8=24
3 x9 =27
3 x10 =30

U o oyl A (e oSy 5 5 _ygill o pall Jglas ad) (e 2my
a8l Calaual 3 92 4l i) Juals (5805 3 &80 3 6l ) Q6IST (o juall
() IR (e Aaal gl A ggaally Al alaill Sy g g gl

3=1x3
6=2x3
9=3x3
12=4x 3
15=5x 3
18 =6 % 3
21=7x3



24 =8 x 3
27 =9%x3
30=10x 3
33=11x3
36 =12 x 3
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4x1=4

4x2=8

4x3 =12
4x4 =16
4x5 =20
4X6 =24
4x7 =28
4x8 =32
4x9 =36
4x10 =40
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4=1x4
8§=2x%x4
12=3 x4
l6=4x4
20=5x%x4
24 =6 %4
28=7%x4
32=8%x4
36 =9%x4
40=10%x 4
44 =11 x4
48 =12 x4
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Ox1=5

5x2 =10
oXxXa=1b
5x4 =20
5xb =25
5x6 =30
5x7 =35
5x8 =40
5x9 =45
5x10 =50
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5=1x%x5
10=2x%x5
15=3 x5
20=4 x5
25=5%5
30=6x%5
35=7%5



40 =8 %5
45 =9 x 5
50=10 x5
55=11 x5
60=12 x5
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6 X6=36
7X6=42
8x6=48
Ox6=54
10X 6

1X6=6
2X6=12

4x6=24
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6=1x%6
12=2x6
18=3x6
24=4x6
30=5x6
36=6x6
42=7x%6
48 =8 % 6
54=9x6
60= 10 X 6
66 =11%6
72=12 % 6
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10x7=70
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7=1x%x7




14 =2%x7
21 =3x7
28 =4 x7
35=5x%x7
42 =6 %7
49 =7x7
56 =8 %7
63 =9x%x7
70=10x%x 7
77=11%x7

84=12 x 7
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8X1=8
8X2=16
8X3=24
8 X4=32
8 X5=40
8 X6=48
8 X7 =256
8 X8=64
8 X9=72
8 X10 =80
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8=1x38
16=2x38
24 =3x8
32=4x38
40=5x 8
48 =6 % 8
56=7x8
64=8x8
72=9x%8
80=10x 8
88 =11x38
96= 12 x 8
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1xX9=9
2%X9=18
3 X9 =27
4x9 =36
5x9=45
6 xX9=54
7 X9=63
8x9=72
Ox9=81
10x9=90
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18=2x9
27=3%9
36=4%x9
45=5x9
54=6x%9
63=7x%9
72=8x%9

81 =9 x
90=10%9
99=11x%9

108 =12 % 9
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1x10=10
2x10=20
3x10=30
4x10=40

5x10=50

6x10=60
7%x10=70
8x10=80
9%x10=90
10x10 100
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20=12x 10
30 = 3 x 10
40=4 x 10
50=5x10
60 =6 x 10
70=7x10
80=8x10
90=9 x 10
100= 10 x 10
110=11 x 10
120=12 x 10
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| x 1=l

2 xll=22
3 x1l =33
Y x|l =44
O x 1l =95
6 x|l =66
Pixill =77
8 x|l =88
9 x|l =99
10 x Il =110
I x Il =121
12 x Il =132
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11=1x11
22 =2x11
33=3x11
44 =4 x 11
55=5x11
66 =6 x 11
77=7x11
88 =8 x11
99 =9 x11



100= 10 x 11
121=11 x 11
132 =12 x 11
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1x12=12
2x12=24
3x12=36
4x12=48
5%x12=60
6x12=72
71 x12 =84
8x12=96
9x12=108
10x12=120

Jiiss Jsall 8 g pmall o)1 Ciaca 12 @Mmum)&




24 =2 x 12
36 =3 x 12
48 =4 x 12
60 =5 x 12
72 =6 %12
84 =7 %12
96 =8 x 12
108 =9 x 12
120= 10 x 12
132=11 x 12
144=12 x 12



